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The ﬁgures in the margin- indicate full marks
: -for the questions.

® 7 Answer _elther in Enghsh or in Assamese.
‘ L T wed TS S SRan
. - Answer question Nos. 1, 2, 3 and
- - any four from the rest.
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- ‘1. Choose the correct answer of 'the following
' questions : ... 1x10=10
SR ST oFl O% m 3R Sereat ¢

(a) Who of the followmg is-the father of modern
) strategy ?

R PSR W{ﬁas @?Msﬁ ﬁmﬁﬂ 2
(1) ‘Henry Fayol ~
' Heosiles o

3
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(i) Chester Bammard

"css“maat«ﬁ:é

(111) Michael Porter -
ﬂﬁ@ﬁi C‘?ﬂfﬁ

(iv) William Churchman.

@iﬁmﬂmﬁml

(b) To whlch theory i and 'then' ‘approach to
management is associated with ?

ﬂﬁmmﬁmwmwﬁw (o0’

gl AR 2

-+ (i) Operational theory o

(u) System theory
‘»ﬁ% @

(iii) Contingency theory

(iv) .Q'uant'itative theory.

RIS I |
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(c) Strateglc plans are :
(i) Long term |
] o
(i) Medium term
WS g |
(ili) Short term
Cmam
- (@iv) Single use.

- piseed

(d) In decision making by whom bounded
-rationality is introduced ? '

P ars A s cARereia <
e - - |
@ Herbert Simon
(ii) Elton Mayo :
(iii) Peter F Drucker
PioR @ G
(iv) Tom Peter.

ow PRI
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(e) Organisation chart shows :
oSN (@RIbER e I 3
(i) Communication channel
"ARGA A ST
* (i) Leadership styles
(iii) Span .of control
e R

(iv) Structure of relatlonshlp.
TR sffam ‘

‘® In which orgamsatlon of . the followmg the

principle of unity of command is violated ?

e .

) Broject organisation
oA AT

(i) Line orgamsatlon

&R W\W

(iii) Functional organisatibn ‘
PRI AP

(iv) Line and staff organisation.

@RS % FHIR AR

54/4 (Sem-2) PMG @

A

Coif ma\m@wm}ﬁﬁw




(g) Leaders who create a shared vision with their
followers are : :

SN e tﬂm ﬁw mc-n?a eI
T [ (IR 3 :
@) Laissez- faire leaders
AT ot |
~ (ii) - Transformational leaders
(iii) Transactional leaders -
‘_ o G
(1v) F ormal leaders

uﬂéﬁﬁaﬁﬂ\—m-

. (h) Select- the true one :
" (i) Vertical communication spread informa-
tion across the hierarchical level.

'_wﬂwﬂm«awmw@m
aifRe IR

(ii) Horizontal communieation spread infor-‘
" mation across the hierarchical level.
SR FALA G TG sfffa wrere
@213 ke R
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(iii) Grapevme communication is a form of

formal commumcatlon channel.

| o IRCAIS] A TR Sl SteeAlel
A AT Sl |

*.’(iv) Informal communication is an imper-

@)

sonal form of communication.

mqénﬁas gt A L‘W vwﬁﬂs Folq
ARSI

Control -exercised by lower lc\}el' mariagers
are : ‘ S :

% 3
(i) Strategic level control

(ii) Tactical level control

- (iiii) Operating level control

W‘TWW

(iv) None of the above. |

@R CRIAICOIRE = |
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(1) What stage of planned change make people
. realise the need .of change ?- '

siRefre AResw ITH! S T ﬂﬁ?ﬂ‘)‘vﬁ
) Unfreezing sta'ge
o ﬂﬁm‘ﬂﬁa@a Sfw
" (ii) Moving for new ways stage
T o ofS weprs st
(iii) Refreezing etage . |
PR ﬂﬁa@ﬁ‘lﬁ@? spffa

(1v) All of the above stages. o
89T ﬂm@w ﬂzﬁm B

2. Write short answers of the following questions :
(any five) : 2x5=10 -
Awmwwm& GG - <HiBB1R) ¢

(a) State two similarities in Taylor's and Fayol's
theories of" management :

memwﬁmaﬁ
e ] |

(b) Mention two linm'itati_cms of Weber's Bureau-
cracy theory of management. |

Wﬂﬁe@aﬁamm@,w
B 1| .
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(0)

@

(©)

®

Give two dlfferences between smgle use
plans and standing plans. .
G IR ARTEA AT TR AR
ers w51« W o

State  two resolutlons of line .and staff

conflict. - ‘
wRe wie SHRN TR ﬁwrf%aw« 7ol
CE AT B T

Give two differences between hygiene factors
and motivational factors of motivation.

eefredTT - ARG SR Tolm oI

(AT AWM Were [l Sy it

State two main characteristics of laissez falre
style of leadership. '

*ﬁl%l%aswwﬁﬁmn

Answer any ﬁve_ ~of the fellowmg : 4x5=20
vl R I ohiohe T FA 2

(a) What are the activities of business as d1v1ded

by Henry Fayol ?

@@Wﬁwwwwm-‘

JreTR & R 2
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(g) Write the meaning of zero base budgetmg




(b)

©).

@

State bneﬂy the Five Force Ana1y51s of
Michael Porter as his contnbutlon to
management thought.

ﬂﬁmmwﬁﬁmﬁWﬂﬁm
ﬂmwmmaﬁTW| ’

Explain any two typeé of planning premisés.

'W«Wﬁ I WO A Gt

WI

State- the cncumstances of launchmg a prOJect

} orgamsatlon

(e)

®

~mv{\ﬂéw WWW::‘@WI

Explam four principles of delegatlon of
authority.

Wwﬁ«mﬁmﬁ%wwu

What is grapevine commumcatlon ? Explain.
its two characteristics.

Wwﬂﬂﬂmﬁ?iﬁa@lmw .

'WI

(@

What are the gmdelmes for mplementatlon

- of change ?

WW«WW%ﬁS?
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4. Discuss the techniques ‘of Taylor's Scientific
Management. . ' 10

Wh@ﬁ@oﬁwmwwn
Or/WQFIT

Explam the features ‘of .modern management
theorles Also state the merlts of system theory.
5+5=10

mewmmﬁmamlam
aﬁwaﬁma@ S|

Discuss the prerequisite cons’1derations for instal-

lation of management by objectives. What are the
benefits of management by objectives 7 6+4=10 .

SN TR ~ARblER R TR AR P

REEAPIRI SceA 3411 ST 7t olﬁsm
ﬁﬁw R

~ Or / @
What are the steps involved in forecastlng ?

Dlstmgmsh between forecastmg and planning.
5+5=10

Wﬂ eferre TS W’H{(ﬁiﬁ??
AT i SRR e s B
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. Describe the various basis of departmentation
with relative merits and limitations. 10

WqﬁmWWﬁ@%ﬂam
It 1) A

.AOr/WQHT

What do you mean by authority ? Discuss the
- sources of authority. - 3+7=10

To9 I T 2 IR SOPIR WD B9 |

7. State the assumptions of Douglass McGregor's
" theory X and theory Y of motivation. Give a
 critical analysis of his theory. ' 10

Tl maﬂ«ﬁvnf%mqaagxw‘lﬁ
Y-3 T e 10 maqaﬁﬁamm
Rosmd wife «@t|

Or / Sl

| State the characteristics of autocratic -and
- participative leadership respectively. Also, com-
‘pare between formal and informal leadership-

- 5+5=10
S c*zsarsr?f IS SR C‘*W gy I

ZA| TS, w@rﬁasmwm GWW
o ,
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8.

"Planning without control is meaningless and
control without planning is a waste." On the basis
of this statement, discuss the relationship between

“control and planning. What are the behavioural

problems of control ? 6+4=10

e SR AR LR W ARTEAI

Rz Faad o wesa” T Ronr fSfes
RaE O ARTENIFIOR Tere I7=AF S 710 |

| e AR Wb RN TRTRRR & e

Or/ |1t

Explain ?rogramme Evaluatioﬂ and Review L

Technique (PERT) and Critical Path Method
(CPM) technique of managerial control. What are
the advantages of both the techniques ?

‘ 6+4=10

ﬂﬁsmmﬁ?mﬁﬂm@ﬂmﬂﬁaﬁvw
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